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Write your Roll No. on the top immediately
on receipt of this question paper.
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Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
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(c) Attempt any three (3) questions from
Section A out of five (5) any two questions
out of three (3) in part B.

gus ‘&’ q 4" (5)F & ReEt f (3) weHt
% IR & T @IS T F A9 (3) F A B
&l (2) Ul B IwT T

(d) There are no internal choices. All Parts of
the question attempted is compulsory.

aT=iitsh e 72T B B off usq & oot
9 &% ST Afyed

(e) All questions carry equal marks, i.e.15.
gl g9+ & G 3fF ¥, ie.15.

Section - A
g - H

Let the world consists of two economies China
and Argentina where only two commodities
Broccoli and Parsnip are consumed.China
requires 3 hours of labour to produce a unit of
Broccoli and 2 labour hours to produce a unit
of Parsnip and has 1200 units of labour.
Argentina on the other hand uses 5 and I labour
hours to produce one unit each of Broccoli and
Parsnip respectively and has 800 units of
labour. Let the world's relative demand of
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Broccoli be given by Demand for Broccoli/
Demand for Parsnip=Price of Parsnip/Price of
Broccoli. Both countries are large enough to
affect the terms of trade.

A1 b g & orelemarenm &9 o oS &l
arafT T B SRl dad & axgy siehiel ST
qUeT @7 ITHT fRAr Ser 1 TS sishlell %
U%h ZhiE & IET H 2/ & 3 g9 T gdf-g &
S H SH & 2 gUe i SIELIehar sidl & 3
=9 % 9 2 H 1200 IHEAT S 1 gE TWE
SSIEHT SHHST: U Zhis Siiehlet SNX 9dT &
SAET & [/ 5 X 1 o 992 &1 I Hdr 8
3N ITSTEMT & URT =9 &I 800 THhizaAT & | ol
3T 3O 2 B fF AU $ 9 B gHiad &Y
Tha 1 " 5 Seeen ar faeg i =@
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(a) Draw PPFs for both the countries.What will

be the relative prices of Broccoli in the
absence of trade in both the countries ?
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2. (i)

gl 32 % PPF &l @f= ? S0 Q= H &R
o oTuRAfiy H Siehiell @ AUiEe BiEa
erft ?

If both countries decide to trade, describe
the pattern of trade between them. 3

giE 9 39 AWK & o dq B O S99
g AR % =T H g9 B

Briefly explain the gains from trade for the
two countries. e

T 2 & oy AR & gu ey # dfEra
ol Y |

"An economy faces trade-off between
consumption today and consumption in
future even in the absence of international
capital movements". Discuss this statement
in the light of Standard trade theory using
suitable diagrams. 8
iRt Gof et @ o # o B
orefeERe aaHE SUENT T afasy # SqHrT
% = gfesm @1 @A SXar o | S A A
STENT X & HHH AR fasia & uerer J
=6 HYA H [AdET e |
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(ii) "Market failures may always be dealt as

directly as possible." Examine this in the

context of application of import tariffs. 7

‘oI STOHEAT Sl BA9N S8l O aYd Bl
gger ®9 ° 81 sd fhar SIET =ew’’ | STErd
gk B ITIANT B Taw H g Gl HY |

Two economies, Ecuador and Aruba are
considering assisting their technical sector
for the production of a specific variant of
microphones. However, both the economies
are aware beforehand that either of them
can make profit if only one of them produces
it and both will have to incur losses in case
both gets into its production. Discuss the
production of this commodity in line with
the Brander-Spencer theory. Make use of
the payoff matrix to illustrate it in detail.
Are there any limitations to the above
theory ?
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(i)

a1 oTefemeend, sHEiR SlT STEET HIShIBA &
fafsre 9epY & Se & R STuH-oTaw deriieh
g F wEEar 24 9¥ e & @ 21 TN
ST arefereed Yedt 9 & oTaRT € 6 &Nl H
T HI Teh B AT HAT Thd & 990 B A A
T HE UFH STHN QG HL TAT A1 Bl B
Sorl 9= afd S TUe Swed B © |
HET-WAT qP B G H 39 aE b ScdE
%1 A Y| A STE H ITANT HA BT
e O SO e ST | Fr SuRiER
fomsia 1 =g ol 8 7

Write a short note on Gravity model of

international trade. 5

FET AT H JEEHo] Higw gL e
feugofl forg |

Most of the economic theories explaining
the pattern of international trade assume
two countries to be different from each
other in some respect or the other for
beneficial trade to take place between them.
Paul Krugman, on the other hand while
explaining his theory of imperfect
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competition explains that similar
economies can also have beneficial trade
due to the presence of economies of scale
(internal) and imperfect competition in an
industry.

JAfeepisre: oTidies fassia a8 =M gu Siadisia
AN & LT P ATEAT HIA © b QAT a0

C39E H, SIS A9 P 8 & [, Ol

(a)

7 FHB HHC H TH-gal d I B =ie |
gl X% Ui FHrEA, 9 AP AfAEEr &
frsia & =rer sxa 2 & g erefegwenatt
% da SERT A Yel gRkEifer aur ST
Tl B B SURART & BT ATHER=E
I B Tehall © |

In light of the above-mentioned theory,
bring out the long run equilibrium levels of
average cost, number of firms and price in
a closed economy. 6
Sqiea gfvfa fasia & w9 #, o d%
areforaeer @ Rufy & deferi= d@ge
SMed AFT, HH & G AT qY HiHd & &L B
T B |
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5. (i)

(i)

.

Explain changes in this equilibrium
position, if any, in the event of such an
economy participates in free trade.

5

g MR § UEl srefeggesn &% AEiEl @t
Reafey , aft 1S, g6 TgerT aRReRy & aRad
HI AT FH

Illustrate the relevance of Intra-industry
trade in economy. How is it different from
that of inter-industry trade ?

U ofedemawer ® o - TEN AWK B
UERERdr sl T B | ge ST=a-sarT 9 &
gp o= B 7

What do you understand by the concept of
Metzler's Paradox ? 5

Aoow & fO0arE™ & SauReT | S /0
e € 7

"International factor mobility and free trade

can substitute for each other". Discuss.
5

ST are aifaRlierar @ goRy 29 U
TR I AT HT g © | e |
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(iii) Give a brief account of Leontief's paradox.

fgifteas $ B &0 g e ) Frael == % ot Sus fEw @ Rk
. A R B Paw sfrew 5 a3 9w & Rrsic

Section - B )
grg - ¥ (i) Discuss the impact of change in money

supply from Federal Reserve Bank and
European Central Bank on Dollar/Euro
exchange rate using suitable diagrams.

6. (i) ICICI Prudential offers an investment
scheme for its investors offering 10% rate

of interest in INR for one year, USA deposits

on the other hand offers a rate interest of : 2

2% in dollar on dollar deposits for one & B S bl d §a _gﬁ'{ / Eﬁ

year.$1 can be exchanged for 50 rupees s M L I T S e wd

today and is expected to be 55 rupees in i T gﬁrr ;) F T
: [EECE Rl

one year. Which one of the two investments

an investor would prefer if his investment 7. (i) Explain the impact of permanent change

in monetary policy on exchange rate of an

decision is based only on the rate of return
economy under perfectly flexible exchange

on the two investments ? 6

STEHIeTEHSTE gEfmer otow Fasmsat = rate and perfect capital mobility. 8
uF af & fw wdE 598 § 10% =T & T e Rt a3 qo oof St e
W W TF PR QT @ I9HT B D, %lﬁ[if'?wmzw“?“
TEd WH g o9 T U a¥ B P SR Ko . IREdT % 99 H R
SHIRT 9T X H 2% =97 g7 &0 ULEhsT e
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(ii) If an economy operates at full employment

level of oﬁtput, is it true that expansionary
fiscal policy of permanent nature will leave
the state of economy unchanged where
exchange rate is perfectly flexible and

capital is perfectly mobile ? i

qX o SfeferEe SwET $ ool dermR w=w
W A= & W& ® & o gw 9d 2 R
I SR B RRaRe e ey evsferawen
I Rafey 1 smalReaffa s 30 =5 Rty
T e el & o S gefa: wifsfier B
Explain using suitable diagram how capital
flights in_ the context of expectations
relating to devaluation under the fixed

exchange rate regime. 10

STeT WMh P ITERT HE g R F Rp
%@ﬁmﬁﬁwwwﬁw%eﬁﬁﬁm
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(i) Briefly explain the concept of Offshorg

banking and Offshore currency trading.
5

Sueery ST TR SIUadd Hidl &N B
ST H Gfera § fod=ws Y |
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